Untitled.notebook March 25, 2013

Cha,p\c.r 3 ~ Applicarions a:-f ‘Derivahves
3.1 Velociy
~ A8 The fext

’r s

d\Sp awment

{unchions,

\o’}bnuse

d (&)

a ()

X (s)
. AU'E“WAQ uebocﬂ-b botureen BIC 7
- lhs+ant aneous uuoo\ 7 Pr’ ’87@7

> SLoPE ¢f +the 1= (54/\-(- ar ﬂ:\r\z\ldw’
0 S s s
atC




Untitled.notebook March 25, 2013

Ex | The posihon 3‘5 < particle
movins on o 8+vm‘5k+ Ling s
Pt Ty

d(+) = 2+3- 2142 1 Lok (+20)

) Whatis $he velo iy c¥ler 387 Gs?
‘5“" .e\nd dl

d'(e) = it*- 4o+ LO
d' (3N = (- UR(D) +60 = —12m(s
A (L) = LI - 4a(L) +60 = 2 mis

(b) When is the part e at vest?

Wwant He +ah5u\+ Yo \are
o Slogpe %

So: ——(Co-L" & +co —o) 4,

L2_qFt+ 10 =0
(£—3)(&-2) =0
so -4-= 95 or 65

A When i3 —Hqc rhcﬂx )
( >M"f°\r; DSt e a((wgqhg««mo \v\}

Loock 6t O =D seconds
:1 =S Seconds

= and on
0(03—\42(03-(:@0 =60 D=0

_eL*-42t +G0 307 e e

0t 2 positive
ond
+>s posihve -ve




March 25, 2013

Untitled.notebook

d) What i +oted (dist +ravele
) iha-l-‘\e‘sf—g)si (oseco«cé‘s.m‘('l aveled

e >
= 7 We haae 4o add up
e pleces.
&5
bsec.
L-0 ® +=1s

To Lind Yhe dista o back fo
‘T ‘?c\):isir\aﬁ o{ish:cc:\ ACtidA:

A= A&>_ 214+ 6ok
®o-0s: |d(2) -dd| = |52-0l= Sam

d (D =2 (2> 21(2)*+60(2)
= 16-84 +R20 = 52Am

d(od= O
@ a-ss: |d(s)-4@] = |2s-s2| = IIm

d (s = 2(8)3-2) (5)*+ 60(s)
= Q2SO - 525 + R0

= AS ™

A (2)= 52
@s-cs: | d(6)-d(s)] = |36-25) = [Im

() = 2(0Y = a1 (L) + 60(6)
422 = 3sC + 3,0 =36

Tolal & 52 +2F +(I =90m




Untitled.notebook March 25, 2013

lqcce\era-{{or\ :
\s the Slope Z‘_‘, a LWing —\-&r\%ch‘i +o
a. velocrhy-time graph
OR Ahe 2 derwahve a
- - displa camend ?Uv\d'\'&w.

ex  S=4> 124521 (s in mebres
LY S:eco'hﬁ')

(@ Bnd vd a as Q-f‘:\ {S tome -

G:‘) Find accelerehon &t 3 sec,

/.

(D V=g b) ald)= L@
a=s"




Untitled.notebook March 25, 2013

d= 5 + G /

v= 5M|s

y=t Vv(2)= S mls
V&) =Smls

QA = Omls%




Untitled.notebook

Now oo Can oo

31422

_
/




